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Sciencel|| Deepmani Bhardwaj |[|Use Code- Y723 for Max

Q. Isotopes of an element have
(a) Same physical properties
(b) Different chemical properties
(c) Different number of neutrons
(d) Different atomic number

¥. I dca & gaeafaer & gar gl
(T) FATT silfas agor
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HomeWork Question

- Suraj Kumar 15 hours ago
Isotopes are members of a family of an element that all have the same number of

Babita Kumari 19 hours ago . ]
, , , protons but different numbers of neutrons. The number of protons in a nucleus
Options -(c).. different numbers of neutrons .. and same atomic number.. thank you so . . . -
determines the element’s atomic number on the Periodic Table.

muchsir o da dadada W VIV
e 2 CF Reply

Deepmani 1 second ago

' CF Reply

Deepmani 0 seconds ago

Absolutely correct Suraj &

05 CJ Reply

Absolutely correct Babita =

05 G Reply

5. Young Kumar 22 hours ago
Sana 15 hours ago )
Isotopes of an element have c) Different no. Of neutrons.
L

C) Different number of neutrons..... Isotopes: these are atoms of the elements having the same atomic number but
different mass number. In isotopes no of protons & electrons are same bt no of
neutrons are different.

Carbon isotope: 12C6, 13C6,14C6

e ' 5P Reply Show less

Deepmani 1 second ago . Mechanical queen =4[] 22 hours ago 1 P Repy
Absolutely correct Sana & Aaa

And different physical properties not chemical properties......same chemical properties
not physical properties.... Thank u 4 4'a

Deepmani 1 second ago
' GH Repy _ _ _
Absolutely correct Young and its great to see detailed explanation =

+ 1reply 5 G Reply

Pankaj Mahato 22 hours ago
! Aaaaaaaaa
e !GP Repy
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HomeWork Question

Nisha Arya 17 hours ago

Ans=the same number of protons but different number of neutrons the number of
protons in a nucleus determines the elements atomic number on the periodic table J,

&

e 5P

Deepmani 1 second ago
correct Nisha and its great to see detailed explanation &=

5 5P

Anuj Kanoujiya 22 hours ago
Isotopes of an element have same atomic number but different mass number.

ik
Deepmani 1 second ago
Absolutely correct Anuj and its great to see detailed explanation =

5 5P

Ram Shringar 22 hours ago

Reply

Reply

Reply

Reply

Same phisical properties

ik J
Dharmraj Kumar 22 hours ago

Isotopes are members of a family of an element that all have the same number of
protons but different numbers of neutrons. The number of protons in a nucleus
determines the element’s atomic number on the Periodic Table.

Reply

=

Avathar @ 12 hours ago
Same number of proton and different number of neutrons answer is cccce g,

il

Reply

V

Deepmani 0 seconds ago

Absolutely correct Avathar &=

Ritika Pravakar 22 hours ago

Option b

|sotopes of an element have the same atomic number but different mass number. So,
they have the same number of electrons but different number of neutrons. Chemical
properties depend on the number of valence electrons. Thus, isotopes have similar
chemical properties. The physical properties depend upon the atomic and the mass
number of an element. Isotopes have different mass number i.e., different number of
neutrons. Thus, they have different physical properties.

|sotopes: Any of two or more forms of a chemical element, having the same number of
protons in the nucleus, or the same atomic number, but having different numbers of
neutrons in the nucleus, or different atomic weights.

Isotopes show different physical properties but same chemical properties.

Show less
i G

+ 1reply

Reply

Ram Shringar 22 hours ago
ALAAA
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Q. Isotopes of an element have
(a) Same physical properties
(b) Different chemical properties
(c) Different number of neutrons
(d) Different atomic number
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Q1. Which of the following represents the pair of sex chromosomes in men?
(a) XY

(b) XX

(c) YY

(d) No option is correct.

7. Afef@a & @ Fia o0 # a7 FAAA f AP F1 gl Far
g?

(T) XY

(&) XX

(#H) YY

() FE FweqT a@r 73 2
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Q2. Scientists of which country have developed working human skeletal muscle
from stem cells in the laboratory for the first time?
(a) China

(b) Japan
(c) India
(d) United States of America

¥2. [ & & defasr o Ugell IR GAWRTATAT A ATT Shepred 1 AU
TeH o O Refaa frar g2

(T) =T

(&) ITaTe

(HY) sTRa

() FFFT TST HANFT
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Q3. The rhythmic contraction of the lining of muscles of canal to push the food
along the gut is called
(a) Peristalsis

(b) Facilitation

(c¢) Guttation

(d) No option is correct

¥3. HIS & ’d & Y Yhed F AT g0 A AT F 37w F a9y
HHaT &gl ST g

(T) AT
) g
(#1) e
@) S ReFeT T& 78 &




Sciencel|| Deepmani Bhardwaj |[|Use Code- Y723 for Max Adda 247

Q3. The rhythmic contraction of the lining of muscles of canal to push the food
along the gut is called
(a) Peristalsis

(b) Facilitation

(c¢) Guttation

(d) No option is correct

¥3. HIS & ’d & Y Yhed F AT g0 A AT F 37w F a9y
HHaT &gl ST g

(T) AT
) g
(#1) e
@) S RFeT & a8 &




Sciencel|| Deepmani Bhardwaj |[|Use Code- Y723 for Max Adda 247

Q4. Which of the following is a CORRECT relation of length of small intestines of
an herbivore and a carnivore?

(a) Herbivore = Carnivore

(b) Herbivore < Carnivore

(c) Herbivore > Carnivore

(d) No option is correct.

4. faf@a & 4 fld @1 a3 AERT f O 39T i 9IS FT
el YT g7

(T) ATRBRY = ATHERT

() PR < AMER

() Y > AEER

@) F¥ FeweT ad 787 T
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Q5. Limbs of frog, lizard, bird and human are example of org
(a) Homogenous

(b) Heterogeneous

(c) Analogous

(d) Homologous

¥5. Hedh, aFdl, gaft 3R AT F 39T & 30T ¢
(T) §AFT

() faws

GURE GRS

(3) FaTT
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Q6. Pepsin is an enzyme that digests
(a) Proteins

(b) Starch

(c) Carbohydrate

(d) Fats

¥6. UftHsl U&h USASH § S
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Q7. Which is the CORRECT pair of inherited chromosomes for the child to be a
girl?

(a) X from father and Y from mother

(b) Y from father and X from mother

(c) Y from father and Y from mother

(d) X from father and X from mother

¥7. 959 & g g & AT Ruwa 7 @ qurgEt i @@ S sl @ 82
@ Rarax kAT A Y
() Rar v 3k &1 @ X
FEHRarFdysiRady
() fAar & X3 711 F X
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girl?
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Q8. Gaseous exchange takes place in leaves through tiny pores for the purpose of
photosynthesis. What are these pores?

(a) Chloroplast

(b) Stomata

(c) Chlorophyll

(d) Vacuole

¥8. U HAYU & 35T ¥ ok Bal & aAregw § o # Sy Rfaaw
giar g1 ¥ g Far §7

(T) FARITATES

(&) Tor

GOUIEGIRUL T

(3) RiFaesr
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Q9. Lymph carries digested and absorbed fat from
(a) Lungs

(b) Intestine
(c) Stomach

(d) Kidney

99. T

(T) BH3
(&) 3ma
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Q10. Photosynthesis fulfills which of the following requirements of the
autotrophic organisms?

I. Carbon II. Water III. Energy

(a) Only I (b) Only III

(c) I and III (d) All I, IT and IIII

910. WehTer HRAWUT FaOrd) Sfiat A fAeafaf@a & & e amaeasar A qu
AT 87

. &Il 1. greit I, F<T

(T) &ad |

() Faer Il

& 1 3

() g3l 1, 1 3T
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Q11. Which among the following difference between aerobic and anaerobic respirations is

INCORRECT?

(a) Aerobic respiration takes place in presence of oxygen - Anaerobic respiration takes place in
the absence of oxygen

(b) In Aerobic respiration pyruvate is broken down into ethanol and carbon dioxide - In
Anaerobic respiration pyruvate is broken down into carbon dioxide and water

(c) In Aerobic respiration more energy is released - In Anaerobic respiration less energy is
released

(d) Aerobic respiration takes place in mitochondria - Anaerobic respiration takes place in yeast

711, T 3 R @gue & fg f=afaf@ad & F sia 97 36% To9aq 82

(u)@ﬁ;amsﬁwmaﬁmﬁaﬁﬁam%-mﬁmamﬁwmﬁa@mﬁrﬁ
giar

(@) TfeF @ #H Uswde sUATA 3R FET SFIAHTFESS A ¢ AT § - HAFHT eqHA A
UISEAC Fleel SEATaISs 3R 9l A ¢ Jar §

(F) e @gwa A 30w FaT IR g § - TEARIAE @ d T # FF FoAT IR gl §

(3N) ASeIPITsAT A WA THA a1 & - AR H AIEIT gH gidT &
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Q12. The maintenance functions of living organisms are performed by the

(a) Chemical processes
(b) Life processes

(c) Physical processes
(d) No option is correct.

¥12. ¥lal & I[@I@T FT F ganT fraT e B
(T) THfas 9fhame

(&) Shasr gfspame

() sitfas gfshame

(3) M3 RAFeq T 74t 3
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Q13. Which of the following may cause the breakdown of pyruvate into lactic
acid in our muscles?

(a) Lack of water

(b) Lack of Oxygen

(c) Lack of carbon dioxide

(d) Lack of nitrogen

713. Amfaf@a & @ =l gt AR 7 uswae F dffes ofis & e
ST HROT &1 FhdT 872

(W) et v FHAT

() TS HY HAT

(HY) FEeT SBHTFASS HT FHAT

(3) SIS H FAT
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Science||

Q14.

(a) Water
(b) Sunlight
(c) Food

(d) Gas

914.

is the source of energy and materials in human beings.
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Q15. The somatosensory receptors in human beings detect

Adda

(a) taste
(b) smell
(c) touch
(d) hear
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Q16. Which of the following protects the inner lining of the stomach from the
action of the hydrochloric acid under the normal conditions?

(a) Villi

(b) Mucus

(c) Saliva

(d) Digestive Juices

716. fasT & @ *la ey aRFFUAAT & 9 $r 3ralRs wa F gEFaiR®
vfas i fFar & sarar 872

(T) faeell

cEGLLI

GUEGLE

(3) 9 W



Sciencel|| Deepmani Bhardwaj |[|Use Code- Y723 for Max Adda 247

Q16. Which of the following protects the inner lining of the stomach from the
action of the hydrochloric acid under the normal conditions?

(a) Villi

(b) Mucus

(c) Saliva

(d) Digestive Juices

716. fasT & @ *la ey aRFFUAAT & 9 $r 3ralRs wa F gEFaiR®
vfas i fFar & sarar 872

(T) faeell

cEGLLI

GUEGLE

(3) 9 W



Sciencel|| Deepmani Bhardwaj |[|Use Code- Y723 for Max Adda 247

Q17. are details of appearance or behaviour or in other words, a
particular form or a particular function in classification of organisms.

(a) Speciation

(b) Evolution

(c) Characteristics

(d) Illustration

q17. 39feYfd a1 Sgagr A1 q@Y real A, Sfi&at F Fefieor A ww
iy &7 a1 v Ay SF 1 R{aor B

W EIGIEZ W

() R

(HY) o&yoT

(3) Fr=or
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Q18. Pancreatic juice require which medium for their action?
(a) Acidic

(b) Basic

(c) Neutral

(d) All option are correct.

918. AR T &1 A9 AT & fow forg ATeddw &Y 3maegswhdr gidr 87
(T) 3FFellT

(&) Fhoard

() dery

@) Tt REew wdr &
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Q19. Preserved traces of living organisms retained in the form of impressions of
the body parts in the soil are called
(a) specimen

(b) fossils

(c) antique

(d) phylogeny

719. AT & wWR & 3 & anl & & # Afag shal & @f@a st
FgT SITaT g

(T) oTHaAT

(&) Srares
GURIEIG]
(3) BrsASAAT
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Q20. How is the nitrogen taken up by the plants?
[. In the form of inorganic nitrates or nitrites
II. Inthe form of organic compounds

II1. Directly taken up from the atmosphere

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

¥20. qleY ganT Ao Fq agor Far Smar 32
. HPafesh ASCCH AT ASCISCH & T

. Fefae A & T HF

. €Y qrarasor & fa<r ar
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Q21. Which of the following relation is true regarding the amounts of genetic
material contributed by the father and mother to the child?

(a) Father >> Mother

(b) Father << Mother

(c) Father = Mother

(d) No relation can be determined.

921. Far 3R AT @R g5 & & AW qrell A RF WA T AT FoqEw
H afaf@a & @ sls a1 gar a8 87

(@) far >> AT

() T®ar << A

() far = A

() P o FURT A&7 fFar 1 FHaT g



New Product available on Adda247 App

Mission SSC JE 2023 wission 556 J¢ 2023 [QRN wission SsG JE 2023

Electrical Engineering 2.0 Mechanical Engineering 2.0 Civil Engineering 3.0

Foundation of your Success Foundation of your Success Foundation of your Success

ot 2
iy ’ :.., -
wh

-

i v
4
333 av- ‘T

Start Jan 16, 2023 SAMto 1IPH

Start Jan 16, 2023 SAMto 11PM

For 77% Discount

)
Use Code- Y723

Adda

e




Wutchlng

Addal247




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50:    For 77% Discount  Use Code- Y723
	Slide 51

